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EX: AEsSA
HIM: HAEGIAIYE =&
9l NI +F H4 (29 a8)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
09 HAIAHIBEAZ 5,000 5,000 0
O&FES0IS A &4 & HX 0ot
100, 000 x10Q2! x53] 5,000
ZEHOIX 29 89,300 243,690 A 154,390
& 7,500
Al 81,800
201 LBt | 39,260 38,650 610
01 AP 22| d| 1,000 1,000 0
O1 2Btx=2H| 1,000
DEMHOIAE FHE=x 2
1,000,000 « 14! 1,000
02 E=22%H| 38,260 37,650 610
O1 2222 2 HA 1,270
>EMHOIX AYEO HHIA OS2
1,210,000 = 14! 1,210
DT AZE=2 30,0008 *x2= 60
O3 A& Z&Hl |Aldl 36,990
>DEMHOIXR ESAAE QIS
171,000, 000¥ *10/100%6/ 12& 8,550
DRAFA EHOIX S/WESXNES
137,400,000 x15/100 20,610
>EMHOIX DBLYS 3 S/IWESXES
14,400, 000¥ *15/100 2,160
>e-book N2EE2 S/W SXES
18,800, 000¥ *15/100 2,820
DAY S/WSKE2 19,000,000 %15/100 2,850
202 o4l 5,040 5,040 0
01 2L I 5,040 5,040 0
O=ZHOIX &4 420,000 x12& 5,040
207 O 4| 20,000 20,000 0
02 & AR EHH| 20,000 20,000 0
O&F=Al =20 EHOIX JH=
20,000,000& x 14! 20,000
403 XHXI S A S Xt =201 ® 25,000 0 25,000
=} 7,500
Al 17,500
02 2J| 2 S 0l CH StCH & AF H 25,000 0 25,000
OZ230BIg HEAIAE 2=
25,000,000& x 14! 25,000
< 7,500
Al 17,500
B0t =4 33,020 33,020 0
= 10,560
Al 22,460
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A 3E2SA
M ZEsAY £
el XIELE I A CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
> AUTOCAD & 1dl0lE 550,000 =124 6,600
FB08dH 294 13,208 13,208 0
201 Let24d] 13,208 13,208 0
02 2324l 13,208 13,208 0
O3 A& &8l |Xdl 13,208
DEE0SHEH MM4FH X2
1,270,000% »130CH*8/100 13,208
HHPZ B3 It st 878,183 726,240 151,943
= 10,235
Al 867,948
A3 HEs =Fgd 1,600 1,600 0
303 &3 1,600 1,600 0
01 Z&= 1,600 1,600 0
OZ22&d ZEXNAQMUE Al& 400,000 42! 1,600
HEEHE AMAH 2 17,168 49,240 A 32,072
201 ¢4l 17,168 49,240 A 32,072
02 =224l 17,168 49,240 N 32,072
O3 A€ &Hl |t 17,168
DIMYSRAAY S/WRXE=>
29,823,280% x15/100 4,474
DY SFAAY HW RXE=>
22,166,7202 +8/100 1,774
DHMAIASA ZH RXBS
500,000& x12& 6,000
DEIZMAEA OI2Z 410,000& x12& 4,920
FESS AJls Hul23 49,598 128,081 AT78,483
201 Let24d] 49,598 58,081 A 8,483
01 At 22/l 30,000 45,000 A 15,000
O1 gt=2Hl 30,000
DEA ATEYNH 2L (1E ASH)
20,0003 *1,500H 30,000
02 =224l 19,598 13,081 6,517
O3 A€ &Hl |t 19,598
DUERZR &3 RAE=
1,427,000& *8/100 2,515
DEULIAAE(IPS) FAE S
24,800,000 *8/100 1,984
DEAANM FXNE 38,000,000& *15/100 5,700
DIHIEE SREXNHALAYE RAES
43,880,000& *8/100 3,511
DPCHIZE2el S/W KX E =t
12,000,000% *15/100%8/ 12 1,200




EX: AEsSA
HIM: HAEGIAIYE =&
Crel #EEES B (ol @)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
> Y 0OHUSB S/W | X 2 4=t
41,670,000 x15/100%9/12 4,688
A2 BSI|BAIAE 29 131,516 254,918 N 123,402
201 LBt ]| 31,287 31,059 228
02 2=2=24%H| 31,287 31,059 228
O3 AIE&H| ®XHI 31,287
DMESZEANAE S/WESXNES
96,500, 0002 x15/100 14,475
DESHAMTEE AL|0AAE SXNES
29,200,000¥ x15/100 4,380
DESHAAAE SANE S
123,000, 0002 x8/100%6/ 12 4,920
De-XNZ20tAAE S/W SXE$
50,080,0002 x15/100 7,512
202 04| 5,040 5,040 0
01 2L Hl 5,040 5,040 0
OZ2ED|BIAIAE 29 420,000& x12& 5,040
403 XX SHHS K20 & 95,189 88,819 6,370
02 SO 2SO CHSHCH e AFS I 95,189 88,819 6,370
OBEII8 HMUFH |SXNB4 AL
1,359,840,711=%7/100 95,189
Jl22e AlAdY 29 134,340 114,390 19,950
201 et d| 54,460 47,510 6,950
01 AR 22l ] 44,860 37,910 6,950
O1 Yet=24| 42,200
DIZESEZAMINEETLI , L2 HEX,E
EZ220X 5) 250,000 x12& 3,000
DESFIES22AAE SS0H =S
3,000,000 1= 3,000
DEZ=)|I S22 AIAE BHAI
11,000,000& 1 11,000
DIIEES ASCHA 250,000 x12& 3,000
>e2tAl OIMEX(SEX 2 68)
1,000,000 x12& 12,000
DLOXEY CIMI ARE(E,293)
850,000 x12& 10,200
O3 g4 2,660
DEEZIAMOS EALE
70,0002 x321 x103] 2,100
PEEBEZINUR ABELAES
70,000& * 121 x23] 140
DIISSEIIAIog &ML
70,0003 %221 33| 420
02 E2=2=2%H| 9,600 9,600 0




A 3E2SA
dM: FESAY FA
o2 HEFBS DY st (SH9: &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O1 3322 ¢ AA 4,200
DEFYS RER 350,000& 128 4,200
O3 A& ZHl |Xidl 5,400
De2ta &Yl A (AMI] 2 4F)
300,000 122 3,600
DIISES8dAs HPA HH AL (AMU
2| 38) 150, 000& =123 1,800
202 oddl 6,720 6,720 0
01 = LH o4 1l 6,720 6,720 0
OJIEE 2l 560,000 12& 6,720
303 L&t 3 3,400 3,400 0
01 243 3,400 3,400 0
OJ1528ae 2=2AM 3,400
D> Ef 800,000& 1 £ M 800
D= 700,000 24 £ M 1,400
> & 600, 0003 204 & M 1,200
307 21201 A 56,760 56,760 0
05 RIZt2IEt = 56,760 56,760 0
O=2AM A S 4,730,000& «1CH =128 56,760
405 XHoHF S HI 13,000 0 13,000
01 AL EZFH S 13,000 0 13,000
OCIXIE 4D 13,000, 0002 14 13,000
Hd2A Al 29 488,927 89,452 399,475
201 L2l 122,909 89,452 33,457
02 =224l 122,909 89,452 33,457
O3 A&l SXdl 122,909
DEXNZM HW KX E5
626,897,000 *8/100 50,152
DEXNZM S/W KRXES
235,219,000& *15/100 35,283
DIIS22/AMAE HWSRXE=S
204,545,450 «8/100 16,364
DIIS22|AMAE SN RANES
140,727,270& x15/100 21,110
403 A X EHHS =0l A 4,018 0 4,018
02 S| 2SI CHSHH & A B 4,018 0 4,018
SEZDOLAIAE S/W FXES
26,781,0002 x15/100 4,018
405 TtHabF S| 362,000 0 362,000
01 AL EFH S 362,000 0 362,000
ogazel(2-tehAlad 2=
362,000,000 » 14 362,000




2N
X ZH -
L= B

el

dEsd
dE3ME =&
HPHES I3t

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ANZ T Mol=SRAIAE 2= 17,714 17,794 A 80
2 4,025
Al 13,689
201 24l 17,714 17,794 A80
2 4,025
Al 13,689
01 At 22l 17,714 17,794 A80
06 gtz 17,714
DAZ? MASPRALAE 2E AX=E
17,714,000 14! 17,714
= 4,025
Al 13,689
HIN2Y 29 12,480 13,000 A 520
201 Let2d] 2,480 3,000 A 520
01 At 221l 2,480 3,000 A 520
O1 eet=ZHl 2,300
DEIItEHS 60,000& 128 720
DEMTMEH ADB(2F2HHQ 65)
100,000& 128 1,200
>EgI EYH 380,000 =14 380
O6 dEXzA H=J IXZ 180
PE=I PXZE 15,0002 122 180
405 XtatE SHI 10,000 10,000 0
02 =M=l 10,000 10,000 0
OHFIZAY ENZTY 20,000& 500 10,000
HEZE D& 3t 24,840 0 24,840
= 6,210
Al 18,630
201 €24 24,840 0 24,840
= 6,210
Al 18,630
01 At 2t 2l 24,840 0 24,840
o6 g1tz 24,840
DAZAESSIIEE = EH UM EX=
24,840,000 » 14! 24,840
= 6,210
Al 18,630
FESAAL elZet D&t 847,636 769,370 78,266
< 800
Al 846,836
HEFE SHY 29 638,632 607,243 31,389
201 et2 | 628,552 598,843 29,709
01 At 22l 2,800 2,800 0




A 3E2SA
dM: FESAY FA
& FESMUAE =t DEF (&)
A FB B (EN) - HRAY - BES il HImEET
O1 get==EH| 2,800
DFAX 228 #¢ 140,000 »5CH x4 2 2,800
02 =224l 625,752 596,043 29,709
O1 3323 & HMA 625,752
DOOIH & AHEZ 392,664
[~ 6,100,000& =123 73,200
OAMIA SHS,JIEH  23,190,000& «12& 278,280
OS4ds 3 MEZ (ML, SHS)
3,432,000& +12& 41,184
DLtESAIE 2 17,000,000& =128 204,000
D> OIEfUI(ADSL) 3& AFEE 924,000 x12€ 11,088
D> 2 X0l MK (SMS) AtE 2 1,500,000% <128 18,000
202 044l 10,080 8,400 1,680
01 = LH o4 1l 10,080 8,400 1,680
odd 2SN =294 840,000& »12& 10,080
HESAAL - FH S22 191,670 162,127 29,543
201 Let24d]| 152,470 162,127 A9,657
02 =224l 152,470 162,127 A9,657
O3 A& &l |Xdl 152,470
DRUNEEE SN2
666,956,000 x7/100 46,687
PUERIEHE SN+
248,803,000 *7/100 17,417
DEZAAE X4 702,578,000 *7/100 49,181
D> 2SS st (VWPN) SAE=
198,980,000 x7/100 13,929
DEALIAA(IPS) FAE S
69,839,000 *7/100 4,889
Dotas o AlAE X2
30,947,000 *7/100 2,167
DRFM MAEX(UPS) RXNE=
60,000,000& *7/100 4,200
> Zdl /A B+ 1,000,000& =122 12,000
DEESAUSA ASEBA SEEH |1
2,000,000& =14 2,000
405 XtatFE SHI 39,200 0 39,200
01 AR ESFH S 39,200 0 39,200
OIP&E 3| 570,000& »20CH 11,400
O/d&al Wi 27,800
DOEE 3,200,000 =3CH 9,600
DEUE 1,300,000 = 14CH 18,200
SHEZUHANL MY RF(I2IHEEMY) 4,000 0 4,000
< 800
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